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7.68 A refrigerator uses a power input of 2.5 kW to cool
a 5°C space with the high temperature in the cycle
as 50°C. The Qy is pushed to the ambient air at
35°C in a heat exchanger where the transfer coeffi-

cient is 50 W/m® K. Find the require inimum

heat transfer area.
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7.61 A therma! storagé device is made with a rock
(granite) bed ¢ at is heated to 400 K using S \
solar energy. A heat engine receives a O, from the o\aY

bed and rejects heat to the ambient surroundings at

290 K. The rock bed therefore cools down, and as ) an T

it reaches 290 K the process stops. Find the energy T)—\— <

the rock bed can give out. What is the heat engine

@m[ the process, and what - 210 T
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